# Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematic 

## Memudu Olaposi Olatinwo

A result on segmenting Jungck-Mann iterates

Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica, Vol. 47 (2008), No. 1, 115--119

Persistent URL: http://dml.cz/dmlcz/133407

## Terms of use:

(C) Palacký University Olomouc, Faculty of Science, 2008

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://project.dml.cz

# A Result on Segmenting Jungck-Mann Iterates 

Memudu Olaposi OLATINWO<br>Department of Mathematics, Obafemi Awolowo University, Ile-Ife, Nigeria<br>e-mail: polatinwo@oauife.edu.ng

(Received May 5, 2007)


#### Abstract

In this paper, following the concepts in [5, 7], we shall establish a convergence result in a uniformly convex Banach space using the JungckMann iteration process introduced by Singh et al [13] and a certain general contractive condition. The authors of [13] established various stability results for a pair of nonself-mappings for both Jungck and Jungck-Mann iteration processes. Our result is a generalization and extension of that of $[7]$ and its corollaries. It is also an improvement on the result of $[7]$.


Key words: Jungck-Mann iteration process; uniformly convex Banach space.
2000 Mathematics Subject Classification: 47H06, 47H10

## 1 Introduction

Suppose that $A=\left(a_{n k}\right)$ is an infinite, lower triangular, regular row-stochastic matrix, $E$ a closed convex subset of a Banach space and $T$ a continuous mapping of $E$ into itself and $x_{1} \in E$. Then, the general Mann iteration process $M\left(x_{1}, A, T\right)$ which was introduced in Mann [9] is defined by

$$
\begin{equation*}
v_{n}=\sum_{k=1}^{n} a_{n k} x_{k}, \quad x_{n+1}=T v_{n}, \quad n=1,2, \ldots \tag{1}
\end{equation*}
$$

If $A$ is the identity matrix, then each sequence of $M\left(x_{1}, A, T\right)$ becomes the sequence of Picard iterates of $T$ at $x_{1}$. It was established in [9] that if either of the sequences $\left\{x_{n}\right\}$ a nd $\left\{v_{n}\right\}$ converges, then the other also converges to the same point, and their common limit is a fixed point of $T$.

In $[5,7]$, it is said that the matrix $A$ is segmenting for the Mann process if $a_{n+1, k}=\left(1-a_{n+1, n+1}\right) a_{n k}$ for $k \leq n$. In this case, $v_{n+1}$ lies on the segment joining $v_{n}$ and $T v_{n}$ :

$$
\begin{equation*}
v_{n+1}=\left(1-d_{n}\right) v_{n}+d_{n} T v_{n}, \quad n=1,2, \ldots, \tag{2}
\end{equation*}
$$

where $d_{n}=a_{n+1, n+1}$. A segmenting matrix is determined by its sequence of diagonal elements. Some authors including [3, 11, 12] have investigated the case $d_{n}=\lambda, 0<\lambda<1$, while Mann [9] approximated the fixed points of continuous functions on a closed interval of the real line using the segmenting matrix determined by $d_{n}=\frac{1}{n} \forall n$. Dotson [6] considered the case when $d_{n}$ is bounded away from 0 and 1 . Groetsch [7] generalized the results of $[3,6,9,11$, 12 in a uniformly convex Banach space by employing (2) and assuming that $A$ is a segmenting matrix for which $\sum_{n=1}^{\infty} d_{n}\left(1-d_{n}\right)=\infty$.

We shall give another definition of a segmenting matrix in the next section with a view to generalizing and extending Groetsch [7] and others mentioned earlier in this paper.

## 2 Preliminaries

Singh et al [13] introduced the following iteration process: Let $(E,\|\|$.$) be a$ normed linear space, $S, T: Y \rightarrow E$ and $T(Y) \subseteq S(Y)$. Then, for $x_{0} \in Y$, consider the iteration process

$$
\begin{equation*}
S x_{n+1}=\left(1-\alpha_{n}\right) S x_{n}+\alpha_{n} T x_{n}, \quad n=0,1,2, \ldots \tag{3}
\end{equation*}
$$

where $\left\{\alpha_{n}\right\}_{n=0}^{\infty}$ satisfies
(i) $\alpha_{0}=1$,
(ii) $0 \leq \alpha_{n} \leq 1$ for $n>0$,
(iii) $\sum \alpha_{n}=\infty$, and
(iv) $\sum_{j=0}^{n} \alpha_{j} \Pi_{i=j+1}^{n}\left(1-\alpha_{i}+a \alpha_{i}\right)$ converges.

The iteration process (3) is called the Jungck-Mann iteration.
For $Y=E, S=I$ (identity operator) in (3) with $\left\{\alpha_{n}\right\}_{n=0}^{\infty}$ satisfying (i)-(iv), then we have the Mann iteration process introduced by Mann [9]. Also, if in (3), $Y=E, S=I$ (identity operator) and $\alpha_{n}=1$, then we obtain the Jungck iteration introduced by Jungck [8].

Following (3), we shall generalize and extend Groetsch [7] and others mentioned earlier in this paper by assuming that $A$ is a segmenting matrix for which

$$
S v_{n+1}=\left(1-d_{n}\right) S v_{n}+d_{n} T v_{n}, \quad n=1,2, \ldots,
$$

such that $\sum_{n=1}^{\infty} d_{n}\left(1-d_{n}\right)=\infty$ and $S, T: C \rightarrow C$ are selfmappings on a nonempty convex subset $C$ of a uniformly convex Banach space $E$. The operators $S$ and $T$ are assumed to have a common fixed point and satisfy in addition the contractive condition

$$
\|T x-T y\| \leq\|S x-S y\|, \quad \forall x, y \in C
$$

If $S=I$ (identity operator) in ( $(\star)$, then we obtain (2) and if $S=I$ in ( $(\star)$ then we have $\|T x-T y\| \leq\|x-y\|, \forall x, y \in C$ (that is, $T$ becomes a nonexpansive mapping).

We shall establish our main result in the next section. However, the following lemma is required in the sequel.

Lemma 2.1 (Groetsch [7]) Let $X$ be a uniformly convex Banach space and let $x, y \in X$. If $\|x\| \leq 1,\|y\| \leq 1$ and $\|x-y\| \geq \epsilon>0$, then

$$
\|\lambda x+(1-\lambda) y\| \leq 1-2 \lambda(1-\lambda) \delta(\epsilon)
$$

for $0 \leq \lambda<1$ and $\delta(\epsilon)>0$.
The proof of this Lemma is contained in $[4,7]$.

## 3 The Main Result

Theorem 3.1 Let $C$ be a convex subset of a uniformly convex Banach space $E$ and $S, T: C \rightarrow C$ selfmappings satisfying condition (**) and $T(C) \subseteq S(C)$. Suppose that $S$ and $T$ have at least a common fixed point. Let $\left\{S v_{n}\right\}_{n=1}^{\infty}$ be the sequence defined by $(\star)$. Then, the sequence $\left\{(S-T) v_{n}\right\}_{n=1}^{\infty}$ converges strongly to 0 for each $x_{1} \in C$ such that $\sum_{n=1}^{\infty} d_{n}\left(1-d_{n}\right)=\infty$.

Proof If $p$ is a common fixed point of $S$ and $T$ (i.e. $S p=T p=p$ ), then

$$
\begin{align*}
\left\|S v_{n+1}-p\right\| & =\left\|\left(1-d_{n}\right) S v_{n}+d_{n} T v_{n}-\left(1-d_{n}+d_{n}\right) p\right\| \\
& =\left\|\left(1-d_{n}\right)\left(S v_{n}-p\right)+d_{n}\left(T v_{n}-p\right)\right\| \\
& \leq\left(1-d_{n}\right)\left\|S v_{n}-p\right\|+d_{n}\left\|T v_{n}-p\right\| \\
& =\left(1-d_{n}\right)\left\|S v_{n}-p\right\|+d_{n}\left\|T v_{n}-T p\right\| \\
& \leq\left(1-d_{n}\right)\left\|S v_{n}-p\right\|+d_{n}\left\|S v_{n}-S p\right\| \\
& =\left(1-d_{n}\right)\left\|S v_{n}-p\right\|+d_{n}\left\|S v_{n}-p\right\| \\
& =\left\|S v_{n}-p\right\| \leq\left\|S v_{n-1}-p\right\| \leq \cdots \leq\left\|S v_{1}-p\right\|, \tag{4}
\end{align*}
$$

from which we have that the sequence $\left\{S v_{n}-p\right\}_{n=1}^{\infty}$ is decreasing.
Now,

$$
\begin{aligned}
& \left\|(S-T) v_{n}\right\|=\left\|S v_{n}-T v_{n}\right\| \leq\left\|S v_{n}-p\right\|+\left\|p-T v_{n}\right\| \\
& \quad=\left\|S v_{n}-p\right\|+\left\|T p-T v_{n}\right\| \leq\left\|S v_{n}-p\right\|+\left\|S p-S v_{n}\right\|=2\left\|S v_{n}-p\right\| .
\end{aligned}
$$

Suppose on the contrary that $\left\{(S-T) v_{n}\right\}_{n=1}^{\infty}$ does not converge to 0 . Since $\left\|S v_{n}-T v_{n}\right\| \leq 2\left\|S v_{n}-p\right\|$, we may assume that there is an $a>0, a \in(0,1)$ such that $\left\|S v_{n}-p\right\| \geq a$ for any $n$. If $\left\{(S-T) v_{n}\right\}_{n=1}^{\infty}$ does not converge to 0 , then there is an $\epsilon>0$ such that $\left\|S v_{n}-T v_{n}\right\| \geq \epsilon$ for any $n$.

Let

$$
b=2 \delta\left(\frac{\epsilon}{\left\|S v_{1}-p\right\|}\right), \quad x_{n}=\frac{S v_{n}-p}{\left\|S v_{n}-p\right\|} \quad \text { and } \quad y_{n}=\frac{T v_{n}-p}{\left\|S v_{n}-p\right\|} .
$$

Then, we have

$$
\left\|x_{n}\right\|=\left\|\left(\frac{S v_{n}-p}{\left\|S v_{n}-p\right\|}\right)\right\| \leq \frac{\left\|S v_{n}-p\right\|}{\left\|S v_{n}-p\right\|}=1
$$

and

$$
\left\|y_{n}\right\|=\left\|\left(\frac{\left.T v_{n}-p\right)}{\left\|S v_{n}-p\right\|}\right)\right\| \leq \frac{\left.\| T v_{n}-T p\right) \|}{\left\|S v_{n}-p\right\|} \leq \frac{\left\|S v_{n}-S p\right\|}{\left\|S v_{n}-p\right\|}=\frac{\left\|S v_{n}-p\right\|}{\left\|S v_{n}-p\right\|}=1 .
$$

Hence, we have by ( $\star$ ) that

$$
\begin{align*}
\left\|S v_{n+1}-p\right\| & =\left\|\left(1-d_{n}\right) S v_{n}+d_{n} T v_{n}-\left(1-d_{n}+d_{n}\right) p\right\| \\
& =\left\|\left(1-d_{n}\right)\left(S v_{n}-p\right)+d_{n}\left(T v_{n}-p\right)\right\| \\
& =\left\|\left(\left\|S v_{n}-p\right\|\right)\left[\left(1-d_{n}\right) \frac{\left(S v_{n}-p\right)}{\left\|S v_{n}-p\right\|}+d_{n} \frac{\left(T v_{n}-p\right)}{\left\|S v_{n}-p\right\|}\right]\right\| \\
& =\left\|\left(\left\|S v_{n}-p\right\|\right)\left[\left(1-d_{n}\right) x_{n}+d_{n} y_{n}\right]\right\| \\
& \leq\left\|S v_{n}-p\right\|\left\|\left(1-d_{n}\right) x_{n}+d_{n} y_{n}\right\| . \tag{5}
\end{align*}
$$

Using (4) and Lemma 2.1 in (5) yield

$$
\begin{aligned}
& \left\|S v_{n+1}-p\right\| \leq \\
& \leq\left[1-d_{n}\left(1-d_{n}\right) b\right]\left\|S v_{n}-p\right\| \\
& =\left\|S v_{n}-p\right\|-b d_{n}\left(1-d_{n}\right)\left\|S v_{n}-p\right\| \\
& \leq\left\|S v_{n-1}-p\right\|-b d_{n-1}\left(1-d_{n-1}\right)\left\|S v_{n-1}-p\right\|-b d_{n}\left(1-d_{n}\right)\left\|S v_{n}-p\right\| \\
& \leq\left\|S v_{n-1}-p\right\|-b d_{n-1}\left(1-d_{n-1}\right)\left\|S v_{n}-p\right\|-b d_{n}\left(1-d_{n}\right)\left\|S v_{n}-p\right\| \\
& =\left\|S v_{n-1}-p\right\|-b\left[d_{n-1}\left(1-d_{n-1}\right)+d_{n}\left(1-d_{n}\right)\right]\left\|S v_{n}-p\right\| .
\end{aligned}
$$

Repeating this process inductively leads to

$$
\begin{gathered}
a \leq\left\|S v_{n+1}-p\right\| \leq\left\|S v_{1}-p\right\| \\
-b\left[d_{1}\left(1-d_{1}\right)\left\|S v_{n}-p\right\|+d_{2}\left(1-d_{2}\right)\left\|S v_{n}-p\right\|+\cdots+d_{n}\left(1-d_{n}\right)\left\|S v_{n}-p\right\|\right] \\
=\left\|S v_{1}-p\right\|-b \sum_{j=1}^{n} d_{j}\left(1-d_{j}\right)\left\|S v_{n}-p\right\| \leq\left\|S v_{1}-p\right\|-a b \sum_{j=1}^{n} d_{j}\left(1-d_{j}\right)
\end{gathered}
$$

Therefore, we obtain

$$
a\left[1+b \sum_{j=1}^{n} d_{j}\left(1-d_{j}\right)\right] \leq\left\|S v_{1}-p\right\|
$$

from which it follows that

$$
a \leq \frac{\left\|S v_{1}-p\right\|}{1+b \sum_{j=1}^{n} d_{j}\left(1-d_{j}\right)} \rightarrow 0 \quad \text { as } n \rightarrow \infty
$$

leading to a contradiction. Therefore, we have $a=0$. Hence,

$$
\lim _{n \rightarrow \infty}\left\|S v_{n}-T v_{n}\right\|=0
$$

Remark 3.1 Theorem 3.1 is also a generalization of the results of $[3,6,7,9$, 11, 12].

## References

[1] Browder, F. E.: Nonexpansive nonlinear operators in a Banach space. Proc. Acad. Sci. 54 (1965), 1041-1044.
[2] Browder, F. E., Petryshyn, W. V.: The solution by iteration of nonlinear functional equations in Banach spaces. Bull. Amer. Math. Soc. 72 (1966), 571-575.
[3] Browder, F. E., Petryshyn, W. V.: Construction of fixed points of nonlinear mappings in a Hilbert space. J. Math. Anal. Appl. 20 (1967), 197-228.
[4] Chidume, C. E.: Geometric properties of Banach spaces and nonlinear iterations. The Abdus Salam International Centre for Theoretical Physics, Trieste, Italy, October 2000.
[5] Outlaw, C., Groetsch, C. W.: Averaging iteration in a Banach space. Bull. Amer. Math. Soc. 75 (1969), 430-432.
[6] Dotson, W. G., Jr.: On the Mann iterative process. Trans. Amer. Math. Soc. 149 (1970), 65-73.
[7] Groetsch, C. W.: A Note on Segmenting Mann Iterates. J. Math. Anal. Appl. 40 (1972), 369-372.
[8] Jungck, G.: Commuting mappings and fixed points. Amer. Math. Monthly 83, 4 (1976), 261-263.
[9] Mann, W. R.: Mean value methods in iteration. Proc. Amer. Math. Soc. 4 (1953), 506510.
[10] Opial, Z.: Weak convergence of the successive approximations for nonexpansive mappings in Banach spaces. Bull. Amer. Math. Soc. 73 (1967), 591-597.
[11] Petryshyn, W. V.: Construction of fixed points of demicompact mappings in Hilbert space. J. Math. Anal. Appl. 14 (1966), 276-284.
[12] Schaefer, H.: Über die Methode Sukzessiver Approximationen. Jahresber. Deutsch. Math. Verein. 59 (1957), 131-140.
[13] Singh, S. L., Bhatnagar, C., Mishra, S. N.: Stability of Jungck-type iterative procedures. Internat. J. Math. \& Math. Sci. 19 (2005), 3035-3043.

